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Pre-Laboratory Questions .
«  Why was the standard NaOH solution not prepared by calculating
the amount of solid NaOH needed for 100 mL of solution, weighing it
accurately, and making it up to exactly 100 mL of total volume?
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2. Why not simply rinse the buret with distilled water rather than the

solution to be used in it?
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3. Why does the volume of water added to potassium hydrogen
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Lab InStrUCtor .................
Results and Calculations
{ ]
izati ution
A gtandardization of NaOH Sol
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T ol ﬂ;:’ g/mol
Molar mass of KHP __3ArTE g/mo
| -3
;F |
':T'"l_ XY mOI y Q%"f\% mo
Moles of KHP == 0 o
| mL
Initial buret reading 6.60 mL (NS
Final burét reading * 1 |5 mL ‘2130
| ’.#‘;;-".;. a-u': ; MNucH o W
| Nac 3 O L
Volume of NBOH,L_, o 1.9 o mL G m
| & "=\ mol
Moles of NaOH - :f:”, 3 .80 % (O mol " &
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B. Mass percent of acetl
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iy Trial (II)
— Trial (1)
— b D
= , mL [0°°¢ ml
| O 0O v
Volume of vinegar —
mL o0 m
: \ 2 [
initial buret reading 2\ 5 T
mL| ml
Final buret reading 20606 _ —
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-~ 0 mL % 90 m. |
Volume of NaOH used_ q.
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Average molarity of NaOH, From Part A: o (S
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1.2 8 %10 mol | L .39 %I
Moles of N_a__(lH used ] v |
H in vinegar - b
| Moles of CH;COOH i g 1 % Al ed H:_g o
Reacted with the NaOH |
“| Molarity of CH;COOH in vinegar 0. ly ﬂ .3 M |
Average molarity of acetic acid in vinegar Y M
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N — '3
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__..---"'"f‘
Mass of CH;COOH per liter of vinegar QY g |
Mass percent acetic acid in vinegar —
%
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The label on the vinegar bottle used in this experiment claims that
the vinegar contains 3 % acetic acid by weight. Use your results and

'#

a density of 1.0 g/mL to investigate this claim. Mwv=60.072
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